Data Table

Tables vary with complexity. Here is an example of row and header identification for a
simple uniform table.
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<tr>

<th id= “headerl”> Weight not over (lbs)</th>

<th id= “header2”> Rate Groups 1 and 2</th>

<th id= “header3”> Rate Groups 3 and 7</th>

<th id= “header4”> Rate Groups 4 and 6</th>

<th id= “header5”> Rate Group 5</th>

<th id= “header6”> Rate Group 8</th>

</tr>

<tr>

<td id= “rowl”><center>0.5</center></td>

<td header= “rowl header2”><center> $20.00</center></td>
<td header= “rowl header3”><center> $24.00</center></td>
<td header= “rowl header4”><center> $29.00</center></td>
<td header= “rowl header5”><center> $40.00</center></td>
<td header= “rowl header6”><center> $60.00</center></td>
</tr>

<tr>

<td id= “rowl2”><center>1</center></td>

<td header= “row2 header2”><center> $31.00</center></td>
<td header= “row2 header3”><center> $34.00</center></td>
<td header= “row2 header4”><center> $41.00</center></td>
<td header= “row2 headerb5”><center> $51.00</center></td>
<td header= “row2 header6”><center> $72.00</center></td>
</tr>

<tr>

<td id=“row3”><center>2</center></td>
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</table>

row3 header2”><center> $31.00</center></td>

“row3 header3”><center> $34.00</center></td>
“row3 headerd4”><center> $41.00</center></td>
“row 3 header5”><center> $65.00</center></td>
“row 3 header6”><center> $87.00</center></td>



